Ch TN 6 KEY REVIEW

True-False Questions

_____
1.
Layout decisions influence a firm's ability to serve its market.

_____
2.
Good face-to-face service layouts have maximum walking and material



movement.

_____
3.
High sales volume per square foot of facility is a goal of the face-to-face



service layout.

_____
4.
A job shop layout is also called a flow-shop layout.

_____
5.
In the fixed-position layout, similar equipment or functions are grouped



together.

_____
6.
Assembly-line balancing problem assigns tasks to workstations so that

each workstation has more work than can be done in the cycle time.

_____
7.
Appliances like refrigerators and washing machines are typically


manufactured in a fixed- position layout.

_____
8.
An assembly line can be shaped like a "U."

_____
9.
Assembly line balancing is necessary to maximize idle time in an


assembly line.

_____
10.
Splitting a task so that complete units are processed in two workstations

is a way to balance an assembly line when the cycle time for one


workstation is excessive.

Multiple-Choice Questions

_____
11.
Which of the following is not a basic layout type?




A.
Product layout




B.
Process layout




C.
Assembly layout




D.
Fixed-position layout

_____
12.
Which of the following is a characteristic of a process layout?




A.
Similar equipment are grouped together.




B.
Work stations are arranged by progressive production steps.




C.
Products remain at one location.




D.
Manufacturing equipment is moved to the product.

_____
13.
Which of the following is a characteristic of a fixed-position layout?




A.
Dissimilar machines are grouped into work centers.




B.
Very frequent materials movements are optimal.




C.
Products are grouped by similar shapes.




D.
Products are fixed at one location for production.

_____
14.
Production layout continually changes because:




A.
The internal environment of production is dynamic.




B.
The external environment of production is dynamic.




C.
Technology changes




D.
Demand changes




E.
All of the above

_____
15.
An assembly line is used when:




A.
Demand is low.




B.
Demand is continuous over a period of time.




C.
It is not cost effective to rearrange resources close together.





D.
When product flow is unimportant.

_____
16.
The first step in line balancing is:




A.
Specify the sequential relationship among tasks




B.
Determine the required cycle time




C.
Determine the minimum number of workstations




D.
Select a primary rule for task assignment to workstations and to


 
break ties

_____
17.
The formula for determining the required cycle time is the production 

                        time per day divided by:




A.
The cycle time




B.
The sum of task times




C.
The output per day (in units)




D.
The number of workstations

______18.
To determine the theoretical minimum number of workstations


required to satisfy the
cycle time constraints, the sum of task


times is divided by:




A.
The cycle time




B.
The sum of task times




C.
The output per day (in units)




D.
The number of workstations

______19.
Which of the following will reduce the cycle time of a workstation




to balance the line?




A.
Increase the scope of the task




B.
Duplicate the station




C.
Use fewer skilled workers




D.
Work fewer hours

_____
20.
Firms use mixed-model line balancing to:




A.
Build high inventories of models




B.
Meet demand for one of the most popular products




C.
To meet market demands for product variety




D.
None of the above

